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� �F��:ا	.C5�-�ا	/�

���YZ?��Z!�1930.وا	�7ج�ا	.��	�=��FO?(���?�اد�1M.3Rم��k�8ا	.^)�2�ت�?�5B ��ھ��ا	�Zوي�ا	^�eإنَّ�
�أ���Lإ1Iار�أ!�س� ��J��2م����Lp�ع�O�	�7ج�.ا	SZ?���)5��+1�1ة��\���C�c.(�ف��ا	�Zوي�ا	^R�e^�ر

�S+�?7ج��	����Dأو���X !��ر��5�.3=�،�?/7ً��ھ1ف���	�32ا�r��2.	ج��.�pط�اC�5	ت�ا��C�	1م�	�5ا�	اء�اC.��
,�+�	��!��را�

-��C�Z �")?�-?�t5��β������/��� C5ه�� = 14.3 23456��._(/.��1���*Z28�J� ت���Cc1م�	ا�
�+3:�دا�1Z �*���R�=D.ا	1م��FOا	^)������S.(3�� -�ا	�C5اء�ا	1م�Cc��ت�ز��دة�?-������1Z �u�C?�Fا	�C5اء
�3�نpع���1ر�ا��L1م�إS�ت���Cc1م�	�5ا�	ا�1ة�ا�	اء�اC.��

�
1. (a��25د��ـ��	ا��?"�:C��\Z	و�"�ا"")?�C�Z .�"�

(bأ�t �e�cCRاة����.��32ا	��!��ر�
(b��?�3:�ھ��B	ا�k�(Z5	7ل�اD�P��R�-?�t5���.؟��C3Oا	Yي���1ث�داD=�ا	�Zاة����7
(c�Ccأذ�F����Uظ�����p7ل�اD�= ��Rوي����:;�e.cأ��	د��?�P��R!��ر���	1��1?"��32ا�R�C�Z�	ا�

�89ا	5.(�=
:��( Cl�=

   ;   >�?
   ;   +�,

   ;   >@�A
    ;    B$�-

    ;    CD   ;    E�)��
 

��
 ��

(d��bO�5ا	ي�ا�U�^	ا�t^M5	ا�=/?.��
(e��t�C	ا��U�ف�طC 	F���S	���OC�	رة�ا�)�	ا�t اة�و�أ�Z�	.��
(f!��ر����	اة�ا�Z	�t�C	ا��U�ط�e3832أ��t	�Oون�C.�	إ����5	��.��
(g!��ر����	اة�ا���P��R�-?رة�C�5	ا��U�^	12ار�ا?�t	�Oون�C.�	إ����5	���e3832أ�.��
��

2. �YD��u�C?ت�?���ل���!�Oد��م���	ي�ا�.���J� ���.c��G� = 10�H D�-?!��ر���	�32ا�.�
a. e381د�أ�	ا�F1ا�.�pا�E�������G!��ر���	�5+�دة��32ا	ا�FO���5ل�	ا.�
b. ّفC �-?ز�����C5�	أو+�1;:���/��ا��U7 �-����/و����I�،�:;�.Z.!ا�hI�.�
c. ّفC ط��)Z	ا�B(�)���Z��	�FO��\��	ا���h.Z.!وا��U7�	ا�-���B(�)و���E(�)�.�

�.�ا	�u�C5دم��FOا	�2�5���ا	��!��ر�	���B���Zا	Z(�ط���5�Uأe38و�
d. \��18د��	ا���Z?�	ا�����J.8�rU�Z.�ط��)���Z��	ا�J	إ��

��
�(�ط*�?-���F1ا�.�pا�.�

��:ا	�5^��ت�
� 1 2345 = 86400 6   ;    1
L = 1,6. 10��N O   ;    14 = 931.5 C
L ��⁄     ;    14 = 1.66606. 10��=SD ���
� G( +)�,

-� = 5,30803. 10��? SD   ;    GT = 1.00866 4     ;      GU = 0.00055 4     ;      GV = 1,00728 4�

� 
YZ

: ( [)\
]

= 11,5757 C
L�.�

�
� �k	�/	ا�-�C5.	ا:�

(I���	�.	ا����X�	ت�ا�(cC5	ا�P�	إ�:�ecC?(A)��:ل����R��–�2�.��
���������������������������������������������ecC?(B)��:2–ل������.�C��=�/?–�1و��

���������������������������������������������ecC?(C)��:�u582–��P�����.?/�=�ا	)Cو��
���������������������������������������������ecC?(E)��:2�–��،ات�����.?/�=�ا	)Cو��=��–�C��=�/?1و��

1. �F5.Z��F.	ا������5��	ا������	زًا�اC(?��2��3	ت�ا�(cC5�	���5B5	ا����	ا�:;�����?���Z	ا����	ا�t أ
�ecC?�=c��S�	إ.�

2. �-�(cC5	ا�-?�=c�- �*	�U�PZ�5�ذا��?(A)و��(B)؟��
�

(II�-�(cC5	أ�18ا�= ��Rإن�(A)أو���(B)��ecC5	ا�"?(C)��ecC5	ا�F^��(E)�.��
1. �Fھ��=�؟�و? �.�	ا�اYھ�F53��?��5اR*�؟?�ذا�
�.،�وا�e.c?��د	��ا	.�� =�ا	��دث�)�Bأو���FO)AھYا�ا	.�� =��(C)18د�ا	�ecC5ا	Yي��.�� =�?"� .2

��
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(III�5ج����17.6 g��ecC5	ا�-?(C)��"?18.4 g��ecC5	ا�-?(A)1ًا��+�-D�!�F��?م��58�FO�h��5	ا�"X�،�و
�*RارC8��+200در °∁���cC5	ا�_�C(�	ا�u58�-?ات�C^U�"X��*	���X���.و

1. Ccأذ���cC5	ا�_�C(�	ا�u58ات�C^U��O�4وإ�h��5	ارة�اC8��+در�"Oض�?-�رC�	ا.�
�.و�e�cCRا	�h��5ا	SZ��ab��Fا!.�h.Zا	.12م�ا	SZ���Fأ���B+1ول�12Rم�ا	.�� =�و� .2
3. Cط�Ccدود���2�أذC5	ا�=�B	��2�C=�وط �.�	دود�اC?�-�3�.	100%�.�
�.	YSا�ا	.�� =��dأ�e38;��_�ا	.�ازن� .4
��إ	�Jا	�h��5ا	3���bوھ��8�FO�	��ا	.�ازن� .5�X�0,02 G3$��u5�	ا�-?(C)0,08و�� G3$��-?(E)�:��"U�R

��5B	ر�ا�^.Rه��BRأي�ا�FO�.������������������������J^���:C� = 88 D/G3$    ;       C: = 74 D/G3$�
��

�:ا	.C5�-�ا	Cا�"� �

��S.�.c���CcG = 65 D���S5B8و�L = 147 eG-اء���S	ا�FO���	�U�L�t23R
���.دون�!C ��إ�.1ا����

���:?/=�ا	�2ى�ا	C;�5ة� ��Jا	��FO���Cا	��	.�-�ا	.�	�.�-� .1
a. �\��	ا�FO�� = 0�.���
b. �\�	�FO�� > 0��.���

�_�ا	�.���ا	����5B	��Sاء� .2�cإذا��ghij = 1,29. 10�-D/eG-�.��
a. 1�5س�Dأر���O1ة�داL�e38أ.��
b. -�R�2	3)����-�اZ	ا�e38أ�(klm, +lm)��.؟��h.Z.3Rذا��?��

n-�ا	�FZ�Z5ا	)�����F�)�ا	25��=�	(�=ا .3 = ��:	���cCا	�C���أ;Z�ء�ا	�23ط��(�)&
�����������.��	�����cCا	�?-�ا	���55)،��ج����ا	.3�رع�ا��.1ا��F)�،�ب���nFا	C3 ��ا	�1���)أ��: �-����
ھ���Fاء� ��Jا	�C��ا	Sا	��2��5ا	.S��C;���F���ا�8.��ك�Uة� )�رة���� .)�ر�و�b.2ا .5�دا� ��Jا	�3ال� .4

& = dn���،����C�	ا��cC�	����4��.	ا��	د��5	أو+�1ا.��

; D و �1��G	��nFأ �tا	�)�رة�ا	����OC	�C3 ��ا	�1��� .5 d�_��/	��5ا�U�h.Z.!أ�:;d���*	)�1ي�	.���=�ا	وا.�����
�������J^�R:�D = 9.8 G/6��.�
�

� ��?�M	ا�-�C5.	ا:�

(I�����4�u58�= ��R��	د��?�e.�RBo��F����5cء��5	ا�FO�:Bo + o�p = B� + o-pq�.��

V ��U7�	أ;)_�ا�:+S� = ro − $3D
s:tu

s:vu
�.�

;E�q)ھ�1رو�1�3cا	��د��م��������Cا!^��?���ل� po�)��F	�5	ه�ا��cCR�w = 10�� G3$/x��-?�-�5B8
�-�X58Bو���B��:�V������L:* = 10 Gx��P����/�pا�u5�	�F��?ل����?�-?)=M	ا�u58�(�*	ro = 3,4�.��

V ��L:y = 20 Gx��P���ro	�u58�(�*ا	5Z=(?-�?���ل�?���F	��u5ا	�5/� = 2,9�.��
�=/5�F!�!G���5ل�ا	ا�:B8��	�1��Lw��-����25	ا�-����:ا	)��

��
:�أ;)_���!.�7ل�ا	�3ال�ا	3���bوا	)����-�أن .1

+S��(v�zzv/v�zzt) = 3,7��،+S��(�v{�zzv/�v{�zzt) = 4,8�

�?��ھ��ا	��u5ا�UGى�؟ .2
3. �F!�!G���5ل�ا�	��O��.	ا�:B8����ا	7زم��{Lwéأو+���1�

�=c�FOة�C���?.�
4. �Fا��.1ا��F	�5	ا���cC.	ا�h.Z.!ل��:�ا���?�=�	.�

�(II���\��	�1اZ �5ج��� = 0���5B8L: = 100 Gx��b��3	ا�P����/�pا�u58ل����?�-?��o-�ppoذي��
�F	�5	ا���cC.	�3�5:�ا	ا���2��ب�!�:B8�"?Lw = 200 Gxد��م����	ات�ا���/�?�-?(E�q; o�pp�)ه����cCR

�F	�5	ا�w = 0.01 G3$/x�.��

n(G/6) 
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�.و��-�أ�*��R� �u58�=أ!�س�أ�e.c?��د	��ا	.�� =� .1
�.واS����*(38و�����1�S	���(d).�ازن�ا	;��_��أو+�1 )�رة .2

dو��-�أن��ا	.�� =�أ�(��+1ول�12Rم .3 =
)~

y

���)~�(��)~)
��،)�k�8�b�F��SZ	.12م�ا	3)��ا��Fھ.�(�

4. �e38��5أ�U��b�.�
�

�:�التجريبيالتمرين� �

��^2���)1ا	(�=�(	��P�3?3�رًا��.��ن�?-�;7ث�?Cا�b�^Z�A��=8ا	1راج� ��Jدرا+.*�ا	Z�ر���?-�ا	��3ن�?-�

��
� ���8C?�-?�� ر�3.?B��J	إ��.�
�.�pإ	�J� ��5\.Z?��5�2.3?���8C?���Jا	35.�ي�ا	5��=�?-� �
�.����8C?pا	�1�����2 �

���5B	ا�-�C5.	ا�=c�FO�C(.���2^��?�د���^ ��cC?�FO�	S.��)�درا+.*+�دراج�(G��F4أر�"+C?�FO�:.R��!1را	وا
��.)Cه���	��ً���.��

��
(I����8C5	اB��:��

��^2Z	ا�J	1راج���=�إ	أن�ا��5ً� ���� C3	��nw = 180 dG/ℎ�.��
��.ا	��8C5اج���1	��ا	�?-��FOھYه��C��R�=/5ات�!C ��ا	1ر�ا	25��=ا	)��ن�
1. �*.5�U�e38_�وا��رع�;�.3	أن�ا�-��.�
2. ���Z?�	15ة�ا	���8واC5	ه�اYھ�FO�� �^25	ا��O�35	ا�e38أ

�P	Y	��?7ز	ا.�)������)38�����و����
��
II(����8C5	ا�p�:��

�ا	Yي���5=� -�ا���bOGاو���ا	5��=��ي��=�ا	1راج�إ	�Jا	35.� = 20°���.��;�� C3��*�^2�	�.ك��ى�ا�8.��U
��SR1L��.��;ة�و1�8ة�و�U�bOا�R35.�ي�?�+�دة�	ا�اYھ�J� & = 85.5 E�.��

1. ���5B	ا�J� ��2(^5	�2ى�ا	ا�=/?.�
2. h.Z.!1ة��اL�cC�5	�2ة�ا	ا��m���+1را	5^)��2?-�ا	ا.�

��
III(���2	���8اC?�:��

��^2Z	=�?-�ا��5	35.�ي�ا	1راج�ا	در�ا���pا�.1ا������� C3�n�llllmز���و��ا+.��=�،�?���5	35.�ي�ا�	ازي��?��S�?�8
�5S=�ا�.8�c�ت�ا	�Sاء�ودا���Oأر1�5Dس(ا	������55�	5�ء���pا	��Cة�.�(��

;p)	1را!����cC8ا	�FO���5Bا	��5:� �m; �m)��"4�5	درة�ا��?��\�	��Z?زG1أ�ا(?�C(.��p�.��
1. ��cC��	���Z?�	د�ت�ا��5	أو+�1ا�-R��Z	�F�?)�Z��ط)����ا	��b�(^.��:a(�)��،�(�)��J� ��cCا	2���ن�ا	/�

�.ا	��5ر�-�
�و?��ھ�Fا	��ا?=�ا	.��L�J� �C;�R�F*�؟�و?��ھ�Fط)��.*�؟�.�أو+�1?��د	��ا	35�ر .2
�.�1c�Rأن�ا	1راج�!�B.�ز�ا	��Cة� .3

��
c�:G.���ا	�����������5B:ا	�5^��ت� = 153.5 SD�������،D = 9,8 G/6� ���������،p� = 163,5 G��

��ا�����ع�ا�ول������ا
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��ا�����ع�ا��� �

�:ا	.C5�-�اGول� �

�(I��\��	ا�FO�5ج��� = Sq)?-�?���ل��Z�Z?C�ت�ا	)�R�!��م��1U���5c0,03 G3$رھ���0 + C%pA
�)����5c�"?

�FOLو!o���pA��k�8�،�FX58�t?-�?���ل��u58ا�cGا	�1U0,05 G3$��Pرھ�� = 1 x�.��
��:��e.�R?��د	��ا	.�� =�ا	Y5Z5ج�	�.��ل���	(�=�

� �������(��) + �����
�(��) + ��q(��)   =   ����q(��) + �����(�) + ����(�)�

1. e.cا�أYcو�-�.���.�ا	1ا�FO�-�.�Dا	.�� =�(�
�/Z;(pa���.��ا	.�� =��ا	�5�د	.�-�ا	���Z.�-�ا�	�.Cو
�.أ���B+1ول�12Rم�ا	.�� =� .2
�ھ=�ا	�h��5ا��.1ا�C.?��c�.!�Fي�؟ .3
s�p�u:�����-�أ�*��FOأي�	�\�� .4 = 0,15 − 5sC%pA

�u�.�
��

(II�����.5	�����.M?��Z?7ل�أزD�YD��5B8LV����ھYا�ا	.�� =� = 10 Gxارد���L���5c�C�����:;�h��5	ا�-?
C%pAا	)Z�Z?C�ت�ا	5.)���2

���F	�5	ا���cC.	ذي�ا�F��Z/	1��1ا�	ت�ا�.�C(�	ا!^��?���ل���� = 0,25 G3$/x�.��
1. �-�.���Z/	أن�ا��ة� �5ًC���5	ا�= ��R��	د��?�e.cأ(pa/�
�������:ا	5(�ر�FO�-�.cا	.�� =�ھ5���(�

(�
-q/�
�q)و��(C%pA
�/C%�q)�.=�؟� �.�	ا�اYة�ھ��?�Fھ��?�

2. �= ��R12م�R1ول�+��B��.ا	�5��Cة�أ
C sC%pAف��2^��ا	.����O،�;:�ا!.�h.Z )�رة� .3

�u���	�1�LV��،LU���،��.�
sC%pAأ5c=�+1ول�ا	�2�!�ت�;:�أر!:�ا	�JZ�Z5ا	55/=�	ـ� .4

�u = &(�)�.�
210��150��120��90��60��30��0��t (s) 
1,2��2��2,4��3��3,8��4,8��6��Veq (mL)��
��������������[MnO4-]×10V2�mol/L��

5. �=�).	���5B�	ا�� C3	ا�e38أ�p����\��	ا�FO� = 90 6�.�
��ا	.�� =� .6����. Cف�;:�18د�ز?-�

��

� �F��:ا	.C5�-�ا	/�

�5c��:�N�����J^�R� �-,��F?��د	��ا�(^�ر�ا	��را���م�
�-, + %�

� → x�,=
�AH + �5¨

H, + � %�
����.��

�.�.^)��U�bا��-�إ����ظ�ا	�1د�ا	�.��Fوا	�1د�ا	(����FZو��aأو+�1 .1
�.�G∆أ�e38ا	.Z��FO�rUا	�.��� .2
�2)=�أن�ا	.Z��FO�rUا	�.������ن��,-� ��FOا	�5� =�ا	�Zوي�1�Rث� 1ة��R� 7ت�إ�(^�ر�ا	��را���م� .3�،

18�FO4 0,2د�و�.�
a. ف�Cرة�?-�طC�5	ا��U�^	ا�e381أ G3$م������.�,-� �?-�ا	��را
b. ��1رھU��^!�.?������CSc�� �^.!ا�h.Z�وي��Z	=�ا �.�	ا�اYن�ھ�c1240إذا� Cª.��ل��	دود�اC?وأن�

�.�%20?-�ا	^���Uا	�Zو���إ	�Jط��CSc��U�����ھ��
V م�����.ا	7ز?��	.(��=�ا	�5� ���Z!�FO�=,-� �أc�e38.���ا	��را

c. 1إذا� �5_�أن� SDر��C�Rول�C.(	50?-�ا × 10? O���?7ز	ول�اC.(	ا���.c�Fھ�ارة�،�?C8�=�L�J� 
�.�ج�����ا	^���Uا	.SB.Z��F��ا	�5� ���Z��=ا	C5دود�؟p�

��:ا	�5^��ت�
� G( �N� 

�-, ) = 235,044 u   ;    G( x�,=
�AH ) = 147,932 4   ;    G( �5 

H, ) = 84,916 4   ;    G( %�
� ) = 1,009 4��

� 1 �%%é
 = 365 23456   ;    1
L = 1,6. 10��N O   ;    14 = 931.5 C
L ��⁄    ;   E: = 6,02. 10�-G3$���
��
�
�
��
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F?وG(�=���(�)ا	ا�J� ��S(.cوا
���ات�ا	1ارة�و�Ycا�?1	�	5S��ا	������F؟

�Y�1Z ��S�OCط�-���F���CS.��
�؟�ا	1ا�:�ا	Z\�م��FOا	.��ر�1Lة�س

�و�5/=�	�18ه�َ �	5��Cً��?ا�داD=�ھYه�

��.�u���1ا	25�د��Cا	���������ا	��55ة�	*�

��?C	�ي��C.)5	ا���.C­�.��
�5S=�+�5"�ا	�2ى���5c�،��5)	ا��c

��.�

���Cره��3?�C^U����5���.��
��	�1��C­�;�C®�;�¯5و���.�

����������������������������������������������������������������������������

�

�:�ا	��5���?-�)�(�=�ا	25��=
	 = 12�.�

�*R � 100 Ω�.�
S.�Rوذا��x�.�

\��� � 0�:��
،�وا!.�h.Z )�رة���@1Lة�ا	.��ر����1	�������4

�.�5،���،��	�ا	Z\�م�ا	1ا�:���1	��
اGو�ا	Z�U=�ط���FOC-�ا	.�CR	.������4	�1ارة���1	��

���،�-?�=cرة��( ��Zً�(?�²³´µ
��1	��?��5ات�ا��و��

���L�FOم��\Z	1ا�:�ا	؟�ا����CS�	ا�CR�.	رة�ا�( �t وأ
�U�س�?-�	Z.�5ّ-�ا	1ارة��F^(S?�FOاھ.�از�!:

�FOا	(�=��R�=/5^�ر�1Lة�ا	.��ر�ا	5�ر�
�.ر�ا	�?-�

��.���و�
�?�ذا��h.Z.3R؟�.�xو����55

����FOا	��FO����Lا	��\���M5	ا��U�^
.�

��:�آ�L�CD=�ا	)����-�ا	55/��-�	.^�ر�
?(�Cًا��O*�إ	�u���Jا	�2:���¶�

��Y�1Z ��\875؟
�F��Z/	ا�.��

�Jupiter�/5�(���35،�و	�5 ��اB5	ا�ecا�c�C(cأ
��.��O�F*��8ا	�F!.��و�!.�ن�Cً5Uا�ط)��ً���

���1�1�R(��5و	ي��8ل�اC.)5	ا��cC8��!درا�J

C® � 2. 10-��.�
�F�:¯ � 6,67. 10��� �>�����

­«:��ي��8ل�ا	(��5 � 3,74. 10H 6�.�
��

و�	�C.)5ي�5R�Cc�7;و���	.�ز�"�ا	�.���و�C?��	�.���ا	
	C.)5ي�أ?�م�ا	35���Oا	��Z�����I*�و��-�?��cCا	
��*�أ?�م��Uة�ا	.B�ذب�ا	���Z���F*�و���-�ا	(��5

���Cدا��F35)	ي�ا�cC5	ا�"+C5	ا�FOي�C.)5
�Uة�ا	.B�ذب�ا	������F-�ا	(��5وا	C.)5ي���1	

�-R��Z	�F��:�
��5\.Z?���Cدا���cC8ي�C.)5	ا�.�

 

 

������������ ��د��3:�أ!.�ذة�ا	5�دة� �

� �-�C5.	اk	�/	ا�:�

������CS�	1ارة�ا	ا�b2��ا	(�(
V 1	�?ه�CR�R�_��;�12 L

V =U���F?و?.�أو�2?�*
V �S.?و�2?����L�5و�Rوذا
V م�5I�F��Z;�.�

��
(I�b���ا	��\� �1Zا	2�ط���

1. �e.cأ�	د��5	���4ا�.�	ا
�FOا	Z\�م���1Lة�ا	.��ر�

ا!.�h.Zا	�5�د	��ا	.��4 .2
� ¼

��
�

�

)
�² �

 ¼³´µ

)

ا	�����L!��ك�ھ��?� .3
4. ���ceB��tرا!:�ر�
ا	�JZ�Z5ا	�FO�=/55ا	 .5

�FOا	1ارة�?"�?Cور�ا	�?
a. ��5�U18د���

b. ��5�U�h.Z.!ا
c. ا��U�^	ا�e38أ

� � 25 G6�.
أر!:����c���FO?��:�آ .6

�-?�=c�²������و��

�.ا	��55ة�
��

�(IIK.����:�ا	2�ط���اWن�
?��ھ�Fا	\�ھCة�ا	875 .1
2. ��Z/	م�ا�5�	ح�دور�اCLا

��

�:ا	.C5�-�ا	Cا�"� �

��ec�c�C(.��Jupiterا	C.)5ي�

��O�FO1ور���k�8�،�� �5B5	ا
�1Sف�ھYا�ا	.C5�-�إ	�Jدرا

��:ا	�5^��ت�
c�:-� SD.���ا	(��5 •

• �F�;��_�ا	.B�ذب�ا	��
دور���cC8ا	C.)5ي��8 •
• 1 2345 � 86400 6�.��
��.)�Cأن�	�(��5و�	�5 •
�5S=�أ���د��ec�cا	5( •

 ��*�أ?اCDGى�ا	5^)��2
��
(I�C(.��أن��ec�c��cC8ا	5(.�

1. �e.cرةأ�) �	ة�ا�U1ة�L
2. �F��.^)��bا	2���ن�ا	/�

a. 5	ا��cC8أ;)_�أن�
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b. �F����5c�e.���C�(�	�k	�/	ن�ا��:���ّ-�أن�ا	2�
½¾

y

j{ =  A ¿y

À.ÁÂ
�

�b2�R�:5أن� .3 ≈ 7,8. 10�� G�.�
4. �� C3	��5ا�U�1+أوn���5)	�8ل�ا�*��.	�C.)5ي�7Dل�دورا

��
(II��C(.��3�)"�إ��"ا	�C52أن�)���cC8�FO�1+���،�F��	���:	��	ا��S�).cا�F.	ي�اC.)5	ا�ec�cر��5Uأ�18أ�،

���C^U?1ارهدا�Z?���C.\�8��5ل�?��cCا	C.)5ي����5Ä = 4,2. 10H Gو�دوره��»ÅÆ = 1,77 jours�.��
�5S=�+�5"�ا	�2ى�اCDGى�ا	5^)��2 ��*�أ?�م��Uة�ا	.B�ذب�ا	���Z���F*��مأ?�"�إ��"�5S=�أ���د���5cد����Gا�FU��

��.و��-�ا	C.)5ي�
�C52	ا��cC8��!.���"�إ��"�1را�	،�18د�ا�����	�ه��C(.���­C?�FOC+"�أ��cC?�"?�b(^Z?�*�Iا	C.)5ي�ا	Yي�

��.	�C.)5ي�

�

� ��?�M	ا�-�C5.	ا:�

-? �^2��A�"2R FO =�!أ?�� ?3.� أ �?�5R ، =�5�  - bOGاو�� ا���αف�Y2� �53+ �Sه�C(.�� �^2� ?�د�� 
� C3��n:llllm�=��O J	2^� إZ	ا�O���1رھU�� C3�nzllllm��،K(�� 1�� P	ذ ��4�D t2O �2ة	�2* ; .��
�C(.��� = 0��?1Z  3: ���نB	ا FO �^2Z	ا�O��=�)	1(ا.�(��
 ا	.Cاe�R ?��ر  �J ا	C��R � C! ���Y2ات)�1(�ا	)��ن و�5/= ا	�?- ��1	� ا	O ���Y2�C��R ��Iات)�2(�ا	)��ن �5/=
��.��Oا	2Z^� وذ	1���P ، ا	�?- ��1	�

��
 .�cا	�C ط)��� وا!.h.Z ، ا	5��= ا	35.�ي  ��S�Jا	C8c� :3B ادرس .1

2. ���Z?�	د�ت�ا��5	ا�e.cأa(�) و n(�)���U7�	ا�h.Z.!35.�ي�وا	ا�اYھ�J� �:n� − n:
� = −2D. 6@% �. a. 

;�FO(Oا	�nzllllm��:��5ا	�L � C3�ع إ18ا;F  )�رة ce.ا .3 ım; ȷm)���	�1�nzو����. 
4. h.Z.!ا -? -�� .�nz،�وا!.�nzllllm���5�U�h.Zا	�L � C3�ع ).C?cF)�2(و�)��)1ا	�(�
��ا	�او�� �5�U أو+1 .5�. 
 .ا	5��= ا	35.�ي ?��درR* ��1 ا	C8c� :3B ?3�ر ?��د	� أو+1 .6
Bpإذا�c�ن� .7 = 1.5 G��e38أn:�. 
8. e38ا �O�35	ا�p+15ى�	ا F2OGا ���Y2�	 . 
;�o�(avا	2Z^� إ18ا;F أو+1 .9 �v)��^2� .��v،�وا!.�h.Z	�\��ا�رR^�م� ��Gرض ا	Y2��� اI^1ام 

 .��5�U�nv أو+1 .10

�C(.��:�6@% 53° = Dو������0.8 = 10 G 6�⁄���
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�=�L��3ق�?�u5�	�،P�?��	�3	ا�
�S.�

��:C = 97 D/G3$�(�

����*5B8و�، L� � 1x��.1Z �

u5�	�Bo�"?ء��5	ا.�
�	�1�ro���5ل��	ا���cC.	وا�F	�5	ا�������*	

�ا	.B�ري�	��ق\Z5��،�2م�����	�5��Cة�
�<�5�ء�ا	�C^25	�J� �=��Z?���ل��

;��E�qا	��د��م� op�����cCRه�
��O�4�1إ��LÄ � 80 Gxء���5	ا�-?

F	��)�2OC5	;���2ا�	ا(�:��

�

�2OC5	;���2ا�	ا�.�(�
�،Lw é���،Lو���LÄ���،:;�(38أ�S�

C^25	ء�ا�5	ا(�
�FO�G	�5.�اة � 1.8 D��-?��\Z5	ا.�
�F82:�ھ%�

�L��	ا��
��B?ro�ل��C��Rا	��ن��FOا	ـ�

����������������������������������������������������������������������������

:�

�B�ري��\Z.	��	آ������CSc�C�X�.	ة��S2	ا�J� �
��\Z5	���5ل�و4"�;:�ا	ا�FO��	Wا��S���)Rو
u5�P�?��	�3	ا���?C	���*	��?C�:��ھBo��Fا	Yي�

u�P�?��	�3	ا��cCRه��F	�5	ا�= 10�� G3$/x

�ro�FO���5ل�	�1اBZO��ھro � 2�.��
e�1.)�ا	��R�5� =�?��د	��واC��Brønsted�e.cو

��1	��ا	5�ء�?"��Boا	��u5	.�� =�ا	SZ���Fا	.12م
�?�ذا��h.Z.3R؟

P�?��	�3����2Z	�5.��ا	اةا�FO�	ا���c��35ق
���.cذا���G � 1.8 D�	ء�ا�5	ا�FO��\Z5	ا�اYھ�-?

�.�:����cCا	�5	�F	���O�u5*�ھ��
�	1�Sرو?�1�3c�����5��Fل��<��ا	���5ل�?-�
���1إ(	�����5ا	�5��Cة��?.ro���Cإن�ا	5.�����ا	ـ�.��

?�Z_�?-�ا	���ل� ��Jا	)��ن�ا	.�	F)�)�ر�ا	SB�ز�

�.ا	�5��Cة�	.��ل�ا	Y5Z5ج
����و�K4طC���2ا	��J� �=5ا	�;�(18د�إ18ا;��ھ�����

��cC.�u58��?��	�3	اPاب��Y5	ا�����	�1��w��،
�<��Fا	���5ل��)�:B�	ا��O�4إ�=(Uأي�LÄء���5	ا�-?

u5�P�?��	�3	�5ا	���5ل�ا	ا�FOا���Y�>�وا	�5.�
�u5�	وة�ا�2Z	���Boري���B.	ا��\Z5�	�+%��Fھ

�P.��+ر�إCة�؟��C���5	ه�اYS	�e!�Z5	ن�ا.�

��ا�����ع������ا�����ا

���	.��b�Oوا	BZ�ح��FOا	)��	�ر��

�

�

�

��

�.�-��أزرق�ا	)Cو?.�5ل��-���S	ا��
6,0�–�7,6��3,1�–�4,4��B?

������������ ��د��3:�أ!.�ذة�ا	5�دة� �

:التمرين�التجريبي� �

��BR�ري�ا!.�5�ل���5-\Z?
k�8�:.��1�15R��35ق�	ا�

	��u5ا	�5	���ا	�.��(
�

�(IYD�������?�(S���u5�	
��5�����2∁°25در+��U�	ـا�
1. C ف�u5�	ا�e38
ا	.12م��3)�� )�رة�أو+1 .2

�����S(38ذا�.�،�;:�أ�?
�

�(II1�1�.	���.c�u58��	�3	ا
	Yا���2م���ذا���.�?.ro����Cا	ـ�

�*5B8L � 200 Gxا����cC.	وا
C������5ًB8L� � 20 Gx��
F	�5	ا��w � 0.1 G3$/x����.

�C5��=+أ�-?�C^25	ا	ر�ا�3)?

1. e.cأ��	د�=�?� �.�	ا�Z5	ا
2. �ّC ��^2�و18د�إ��ا	.���Oف�
3. t رة�أ�)�	ا���OC�	ا�	��cC.
�FOا	�5:��ا!.��cCR�h.Zه .4
5. e38.���أ�	اG:��u5�	
ا	3Z)��ا	�����5	�1c�R�2Zأن .6
7. Z5	��5ن�ا	ا��L��	ھ��ا��?
�
�

�

-�	�.Oل��Z��	ا
8,1�V�10��
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��:�.............�ا	32:�....�

���+pا��Uد�?"�ور�(��

��

����������������������������������������������������������������������������

��...........�e2�	ا�........................................�:

��

�F��R�د�?"�)�	C5.�-�ا	.�F(�CB	��4�5ع�ا	/�

��

�

  

������������ ��د��3:�أ!.�ذة�ا	5�دة� �

:�.............................ا�!:�

C5.	�ص���D

��

��


